R0015319 Fit Guards and Doors

Details for guard fitting

@ Difficulty Medium ® Duration 5 hour(s)

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Fit lower rear panel

Step 3 - Fit roof panel

Step 4 - Fit rear panel

Step 5 - Alignment

Step 6 - Fit Guard Doors

Step 7 - Drill door stops

Step 8 - Drill and set interlock switches
Step 9 - Front panel

Comments

Introduction

Tools Required

standard hex key set
Standard spanner set
Standard HSS drill set
Standard tap set

Long reach 4.2mm drill
Extended M5 tap

Parts Required

R0015321 Bench assemble guards and doors

Page 1/8



Step 1 - Unless otherwise stated

Use locktite 243 on all fasteners
Use loctite 572 on all threaded pneumatic connection
Pen mark all fasteners to show finalised

Step 2 - Fit lower rear panel

Connect 12..red x 2 + 12mm blue pipes to pre fitted 12mm
bulkheads on lower panel

Use M6 x 12 socket caps + a forms to fix panel to frame

Use M6 x 10 buttons instead of M6 x 12 at bottom middle and lower

corner cabinet side.

Step 3 - Fit roof panel

Fit pre assembled roof panel Using M8 x 20 socket caps and
A form washers

Page 2/8


https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/wiki/Fichier:R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_143414.png
https://stuga.dokit.app/wiki/Fichier:R0015319_Fit_Guards_and_Doors_Screenshot_2023-11-01_164305.png

Step 4 - Fit rear panel

Fit re assembled rear panel

Secure with 7 off M6 x 12 socket caps and M6 A form washers

Step 5 - Alignment

It is vital that door locks should align correctly.

Handle operation should be smooth and no force required to engage
locking pins
Any discrepancies should be reported

Step 6 - Fit Guard Doors

Fit 4 off Pre assembled guard doors to hinges using spreader plates D0015234 8 off
Use M5 x 16 socket caps and M5 penny washers to fix

Use adjustment in clearance holes of fixing points to align doors to frame as well as possible

Page 3/8


https://stuga.dokit.app/images/thumb/e/e0/R0015319_Fit_Guards_and_Doors_Screenshot_2023-11-01_164142.png/ia-96c0ade3f9e2c4ea50abe3df77dcf18a-1000px-R0015319_Fit_Guards_and_Doors_Screenshot_2023-11-01_164142.png.png
https://stuga.dokit.app/images/thumb/0/0f/R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_085715.png/ia-5d65f55f9e62e1be71edfe2a61bc011d-1000px-R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_085715.png.png
https://stuga.dokit.app/wiki/Fichier:R0008013_Clacker_assembly_quality.png

Page 4/8


https://stuga.dokit.app/wiki/Fichier:R0015319_Fit_Guards_and_Doors_Screenshot_2023-11-01_164459.png
https://stuga.dokit.app/wiki/Fichier:R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_143907.png

= 'y i ‘*i‘!._.._!‘_-:li_li_

4 A—p—— b

Page5/8


https://stuga.dokit.app/wiki/Fichier:R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_143915.png
https://stuga.dokit.app/wiki/Fichier:R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_143923.png

Step 7 - Drill door stops

Drill off door lock pins and strike plates

Fit latch plates DO0O07960 as shown and position door to be flush to edge of frame
Mark through slot and drill M5

Lightly fix door stop using M5 x 25 socket cap and M5 Form washer

Close door and engage door lock to position door stop accurately as shown

Open door and mark and drill second slot on door stop to M5 and finalise fixing

Ensure operation of door locking is checked once drilled and movement is smooth woth no excessive force required
-

Step 8 - Drill and set interlock switches

Set and drill door interlock switches

1 Flip front block on guard switches. Key will sit at top

2 Drill switches 67mm from box section edge and 95 and 125mm from v notch bar both sides. (Approximate measurements. Offer up block
first)

Mark through key holes to drill key to door.

3 Use M5 x 50 caps to attach interlock to the frame

4 Fit interlock blade to interlock, close door and mark through blade . Drill and tap and fix with M5 x 16 socket caps and M5 A form washers,
backed with aM5 A form washer and dome nut.

Page 6/8


https://stuga.dokit.app/wiki/Fichier:R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_144521.png
https://stuga.dokit.app/wiki/Fichier:R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_144527.png

Page 7/8


https://stuga.dokit.app/images/thumb/9/90/R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_152352.png/ia-5e31c185d1b5e006066f874f73e09bdc-1000px-R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_152352.png.png
https://stuga.dokit.app/images/thumb/3/3f/R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_152443.png/ia-8268a598890e4a6c96dd3fd4fd1d79d1-1000px-R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_152443.png.png
https://stuga.dokit.app/images/thumb/c/cc/R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_152513.png/ia-550fbb0a2528e4385a204540af2a5045-1000px-R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_152513.png.png

Step 9 - Front panel

Front upper panel should not be fitted until commissioning have
installed tooling into rotary head

Page 8/8



https://stuga.dokit.app/images/thumb/d/d7/R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_152959.png/ia-e75673e3521933872cb0ad0ea3aecb3b-1000px-R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_152959.png.png
https://stuga.dokit.app/images/thumb/a/ab/R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_152953.png/ia-0add00c052ee733ba5addff30435445c-1000px-R0015319_Fit_Guards_and_Doors_Screenshot_2025-01-08_152953.png.png
https://stuga.dokit.app/wiki/Fichier:R0015319_Fit_Guards_and_Doors_Screenshot_2023-11-01_164125.png

	R0015319 Fit Guards and Doors
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Fit lower rear panel
	Step 3 - Fit roof panel
	Step 4 - Fit rear panel
	Step 5 - Alignment
	Step 6 - Fit Guard Doors
	Step 7 - Drill door stops
	Step 8 - Drill and set interlock switches
	Step 9 - Front panel


